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QUESTION 1

A customer has an HPE Synergy frame with eight compute modules. They want to implement an iSCSI SAN for the
servers in the Synergy frame. 

Which components should you recommend? (Choose two.) 

A. HPE Brocade 16Gb Fibre Channel SAN Switch Module 

B. HPE Image Streamer 

C. HPE StoreVirtual VSA 

D. HPE D3940 Storage Module 

E. HPE StoreOnce VSA 

Correct Answer: CD 

 

QUESTION 2

Which storage technology will help to reduce application response times for a read intensive I/O workload in an HPE
3PAR StoreServ environment? 

A. Dynamic Optimization 

B. Thin Provisioning 

C. Adaptive Flash Cache 

D. Persistent Cache 

Correct Answer: C 

 

QUESTION 3

A customer wants to replace an existing third-party array with an HPE 3PAR StoreServ system. He asks to get an
estimate of the expected deduplication ratio on the new HPE 3PAR StoreServ system. 

Which tool will you use to deliver this information? 

A. HPE InfoSight 

B. NinjaStars 

C. HPE OneView 

D. NinjaCrawler 

Correct Answer: B 
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QUESTION 4

What task can be performed with Library and Tape Tools? 

A. Verifying backup application compatibility 

B. Creating a support ticket 

C. Managing backup encryption keys 

D. Verifying backup schedules and backup windows 

Correct Answer: C 

 

QUESTION 5

A customer is concerned whether a proposed solution is future proof. 

Which independent IT industry source can you recommend to the customer to prove HPE is a storage vendor with a
strong vision? 

A. IDC Magic Circle 

B. IEEE Technology Journal 

C. Gartner Magic Quadrants 

D. SNIA 

Correct Answer: C 

 

QUESTION 6

What are benefits of using the NinjaProtected Tool? (Choose two.) 

A. it simplifies the number of licenses required 

B. it measures the performance of transactions 

C. it identifies the agents that the solution needs 

D. it assists in finding opportunities for cost reductions 

E. it identifies potential deduplication benefits 

Correct Answer: DE 

 

QUESTION 7
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A customer is interested in purchasing a network attached storage device for their data center. Which sizing
considerations are required to recommend the proper solution? (Choose two.) 

A. Number of administrators needed to manage the solution 

B. Total capacity and the expected growth rate 

C. Distance between switches and the NAS appliance 

D. RAID and availability level 

Correct Answer: BD 

 

QUESTION 8

You are configuring an HPE StoreEasy 1000 series for first use. 

Which software automates RAID array and disk creation? 

A. Smart Storage Administrator 

B. Array Configuration Utility 

C. Pool Manager 

D. Centralized Management Console 

Correct Answer: C 

 

QUESTION 9

A customer is considering an upgrade of rotational drives to solid state disks. 

What is the typical increase of random read IOPS per drive with 15K drives compared to enterprise performance SSD? 

A. 10x 

B. 100x 

C. 1000X 

D. 10000x 

Correct Answer: B 

 

QUESTION 10

Which storage solution is the most cost-effective to meet an RTO measured in days? 

A. highly available HPE Storage array with synchronous replication 
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B. clustered HPE Storage array with backup to disks 

C. standalone HPE Storage array with HPE tape backup 

D. redundant HPE Storage with replicated data offsite 

Correct Answer: C 

 

QUESTION 11

What is a benefit of thin provisioning? 

A. It uses a real-time I/O engine to position data intelligently on the most appropriate tier of storage. 

B. It gives the appearance that a volume is larger than the resources that have been allocated. 

C. It removes allocated but unused space with minimal performance impact. 

D. It stores frequently accessed files in a local cache to reduce the consumed storage space. 

Correct Answer: B 

 

QUESTION 12

DRAG DROP 

Match the backup type with its description. 

Select and Place: 

Correct Answer: 
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QUESTION 13

The customer has HPE Nimble AF-series storage. 

What is true when upgrading the unit with Dual-Flash Carriers? 

A. Each bank is part of a common RAID group. 

B. Bank B can be upgraded with an expansion shelf. 

C. Both banks need to be in servicing mode. 

D. All 24 slots in Bank A need to be populated first. 

Correct Answer: D 

 

QUESTION 14

What is required to enable a server to boot from SAN storage in a fabric? (Choose two.) 

A. The storage controller\\'s MAC address for FCoE connection 

B. The server and storage controller WWPN for fibre channel connection 

C. Access to an IP routing configuration tool 

D. Access to a fibre channel zoning configuration tool 

E. The server\\'s MAC address for FCoE connection 

Correct Answer: AB 

 

QUESTION 15

What defines the maximum allowable amount of data loss due to a service disruption? 

A. RPO 
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B. ROI 

C. RTO 

D. SLA 

Correct Answer: A 
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